
SAP ABAP table BAPIE1MAW1RT {Retail Data Transfer: Extension of Basic Data}

BAPIE1MAW1RT

FUNCTION [CHAR (3)]

MATERIAL [CHAR (18)]

REPL_LIST [CHAR (1)]

SERV_AGRT [CHAR (2)]

ABC_ID [CHAR (1)]

PUR_GROUP [CHAR (3)]

SALES_UNIT [UNIT (3)]

SALES_UNIT_ISO [CHAR (3)]

ISSUE_UNIT [UNIT (3)]

ISSUE_UNIT_ISO  [CHAR (3)]

COUNTRYORI [CHAR (3)]

REGIONORIG [CHAR (3)]

LOADINGGRP [CHAR (4)]

ASSORT_LEV [CHAR (2)]

ASSORTPRIO [CHAR (1)]

LI_PROC_ST [CHAR (2)]

LI_PROC_DC [CHAR (2)]

VAL_CLASS [CHAR (4)]

COMM_CODE [CHAR (17)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 BAPIE1MAW1RT-MATERIAL = MARA-MATNR 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 BAPIE1MAW1RT-COUNTRYORI = T005-LAND1 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 BAPIE1MAW1RT-REGIONORIG = T005S-BLAND 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 BAPIE1MAW1RT-ISSUE_UNIT = T006-MSEHI 

0..N

0..N

 BAPIE1MAW1RT-SALES_UNIT = T006-MSEHI 0..N

0..N

T006I

CLIENT [CLNT (3)]

ISOCODE [CHAR (3)]

 BAPIE1MAW1RT-ISSUE_UNIT_ISO = T006I-ISOCODE 
0..N

0..N

 BAPIE1MAW1RT-SALES_UNIT_ISO = T006I-ISOCODE 0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]
 BAPIE1MAW1RT-PUR_GROUP = T024-EKGRP 

0..N

0..N

T025

MANDT [CLNT (3)]

BKLAS [CHAR (4)]

 BAPIE1MAW1RT-VAL_CLASS = T025-BKLAS 
0..N

0..N

T604

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

STAWN [CHAR (17)]

 BAPIE1MAW1RT-COMM_CODE = T604-STAWN 

0..N

0..N

TLGR

MANDT [CLNT (3)]

LADGR [CHAR (4)]

 BAPIE1MAW1RT-LOADINGGRP = TLGR-LADGR 

0..N

0..N

TMABC

MANDT [CLNT (3)]

MAABC [CHAR (1)]

 BAPIE1MAW1RT-ABC_ID = TMABC-MAABC 

0..N

0..N

TWBB

MANDT [CLNT (3)]

BBTYP [CHAR (1)]

 BAPIE1MAW1RT-REPL_LIST = TWBB-BBTYP 

0..N

0..N

TWLV

MANDT [CLNT (3)]

LSTFL [CHAR (2)]

 BAPIE1MAW1RT-LI_PROC_DC = TWLV-LSTFL 

0..N

0..N

 BAPIE1MAW1RT-LI_PROC_ST = TWLV-LSTFL 

0..N

0..N

TWSP

MANDT [CLNT (3)]

PFLKS [CHAR (1)]

 BAPIE1MAW1RT-ASSORTPRIO = TWSP-PFLKS 

0..N

0..N

TWSS

MANDT [CLNT (3)]

SSTUF [CHAR (2)]

 BAPIE1MAW1RT-ASSORT_LEV = TWSS-SSTUF 

0..N

0..N

TWSV

MANDT [CLNT (3)]

SERVV [CHAR (2)]

 BAPIE1MAW1RT-SERV_AGRT = TWSV-SERVV 

0..N

0..N


